CRCLE THE CORRECT ANSWER: Andrea La Rose

INCREMENTAL PERSONAL CHANGES DO/DO NOT
CREATE LARGE-SCALE ENVIRONMENTAL CHANGE
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Circle the correct answer:

Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:

Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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